-
sales@hydronit.com * +39 0362 1841 210 )il_.ldrtlnlt

SECTION B

UNIVERSAL CENTRAL MANIFOLD «UA» EXECUTION VALVE COMBINATIONS

5 — = I *
t s (-

7 - ——+ vsco4 | diidly | *
/ﬂ [

9 | Optiomal | | vusaot | MM | gyy

Start-up valve

EM CMO04M -

CMo04 -

PMCO02 -

CcsB

CPE

Modular manifolds
(See section F)

MDV30E

= [

MSV31E [ —

MSV30 |-

MSV30E

SRR L

CSPC15 [ —

E70100005

E70100004

E70100006

m@» 7777777 E70100010| fi - |XxP
VMDC35 % Dr

E70100003

E70100002

s

Vvuc20

Vvuc20

CsB

www.hydronit.com
PPC2011/2-B010

r




sales@hydronit.com - +39 0362 1841 210

SECTION B

Hydronit

UNIVERSAL CENTRAL MANIFOLD «UB>» AND «UR» EXECUTION VALVE COMBINATIONS

EM

LHHT

CM04M -

CM04 -

PMC02 -

csB

CPE

MDV30E -

MSV31E - —

MSV30 [ —

MSV30E | .

CSPC15

E70100005

E70100004

E70100003

s Ees 5EEE L E

CM04M

CM04 |-

PMCO02

csB

CPE

MDV30E |-
1

MSV31E [ —

A

MSV30 —

AUILIER B SSE i

MSV30E |~

www.hydronit.com

17 /: [

5 — .
g_ﬁj ..... vsco1 h *
7 _

7 ) vsco4 | *
[N i 1 H
== (]
7222
Optional .
9 {-—-—--- B R —— vueaot | T |gyy
Start-up valve VS

| VMPC2 P/*

Modular manifolds

(See section U040.30) CcSB

CPE

E70100005

E70100004

E70100003

E70100002

1—- MDV30E

_| VMDC20 V/*

X@éﬂ}?%%% ki

VFC6

_______ E7o100010| f # |xp

VMDC35 Lg: D/*

Hydraulic scheme
UR type

BR type is for reversible pumps. See
section U040.20.21

PPC2011/1-B030




sales@hydronit.com - +39 0362 1841 210

SECTION B

UNIVERSAL CENTRAL MANIFOLD OVERALL DIMENSIONS

Type | Spare part code

UA E60104020

uB E60104021

U4 E6010

4022

UR E60104023

61,5

0123

55,5
35,5

15,5

Hydronit

(40)

Type UB only

32

Tank side view 25,5

n Only UR type

Weight: 1,10 kg

255

32

the relevant tables)

Foot mounting
support
attachments

2 pcs M10x18

PMC hand pump /
CM lever valve
cap attachments

2 pcs M5x45

www.hydronit.com

25,5
355 102,5
174 Type UB only
133
Cavity Threads
1 M20x1,5 (relief valve) 30
10,5 12
0,2,34 3/4-16 UNF 0 o : :
~ s b o | ]
P-T 1/4” BSPP e
T 1/4” BSPP (threaded S Lke Tt
1 on request only) - S
” 10
5.6 809 1/4” BSPP (9tthr<Taded 5
on request only) T
External manifold | 2 pcs M8 tie-rods
attachment 4 pcs M6 tie-rods
Tanks 14,06 49,02
attachment 4 pcs Mbx14 G 3.92 N
Integral ,)ﬁcg/ Motor side view
AC Motors 4 pcs M8x25 (O
attachment N F,-
DC Motors 2 pcs M6éx14 ? 3 >
attachment or M6 tie rods NS f‘
Pump 2 pcs M8 - .
attachments (see pump lenght on g

PPC2011/1-B040




